	The 2C acetyl coenzyme A reacts with a 4C acid to produce a 6C compound, releasing coenzyme A.
	There is enough energy released y the electron transport chain to produce ATP, this is oxidative phosphorylation.
	Some ATP is produced by substrate-linked phosphorylation as well as reduced NAD.

	Oxygen acts as the final electron acceptor, combining with hydrogen ions and electrons.
	Some ATP is used to phosphorylate glucose. This reduces the activation energy for subsequent steps.
	Eventually the 4C intermediate compound is regenerated.

	Carbon dioxide and some reduced NAD are produced.
	This regenerates NAD and FAD and the earlier stages of respiration continue.
	Pyruvic acid diffuses into the mitochondrial matrix.

	The 3C sugars are oxidised to produce 3C acids called pyruvic acid.
	This produces water.
	Reduced NAD and FAD reduce electron carriers on the mitochondrial membranes.

	Each electron carrier is first reduced and then oxidised as it passes the electrons on.
	Pyruvic acid reacts with coenzyme A to produce acetyl coenzyme A.
	The electrons are passed down a series of electron carriers.

	The 6C compound is oxidised in a series of steps producing carbon dioxide, reduced NAD, reduced FAD and some ATP.
	If oxygen is not available as the final electron acceptor, some NAD is regenerated by the production of lactic acid.
	Phosphorylated glucose is broken down into two 3C sugars.


